GROUP D

//I
7
/+/

30

r e

29—¢ €
28

|
131

3

13

EXPLODED VIEW:

ENGINE MAKE 3.0L G3

REVISION: -A-

DRAWING #: 068978

PAGE10F2

DATE: 5/27/08



EXPLODED VIEW: ENGINE MAKE 3.0L G3

DRAWING #: 0G8978

APPLICABLE TO:
ITEM PART # QTY. DESCRIPTION
1 O0F8286F 1 ENGINE, 3.0L G3 (FWD)
2 055934V 3 CLAMP VINYL 1.5X .281Z
3 035685 6 CLAMP HOSE #28 1.32-2.25
4 0F9220 1 HOSE UPPR RAD REAR
5 0G89250ST03 1 BRACKET, UPPER RADIATOR HOSE
6 0G89290ST03 1 BRACKET, THERMOSTAT HOUSING
7 0A2711A 2 ADAPTER THERMOSTAT
8 048665 2 GASKET THERMOSTAT
9 075885 1 THERMOSTAT 195 DEG
10 0F9252 1 MACHINING,THERMOSTAT ADPTR
1 0G0153 1 BARBED EL 90 1/2 NPT X 3/4 HOSE
12 0A6751 1 SWITCH HI-TEMP 245D X 3/8 NPT
13 0G8868 1 HOSE LOWER RADIATOR REAR G3
14 047411 2 SCREW HHC M6-1.0 X 16 C8.8
15 055476 1 BSHG RDCR HEX 3/8 TO 1/8 GALV
16 0A8584 1 SWITCH OIL PRESSURE 10PSI 2P
17 0F9498ASTO03 1 BRACKET,COIL
18 022473 10 WASHER FLAT 1/4-M6 ZINC
19 022097 8 WASHER LOCK M6-1/4
20 042568 3 SCREW HHC M6-1.0 X 20 C8.8
21 051716 3 NUT HEX M5-0.8 G8 CLEAR ZINC
22 049226 8 WASHER LOCK M5
23 0F9228 1 COIL IGNITION
24 055440 3 SCREW HHC M5-0.8 X 25 G8.8
25 0F9239 1 HOSE,LOWR RAD REAR
26 049813 2 NUT HEX M6 X 1.0 G8 YEL CHR
27 0G89280ST03 1 BRACKET, LOWER RADIATOR HOSE
28 052207 2 SCREW HHC M8-1.25 X 80 C8.8
29 022145 4 WASHER FLAT 5/16-M8 ZINC
30 022129 5 WASHER LOCK M8-5/16
3 045771 2 NUT HEX M8-1.25 G8 CLEAR ZINC
32 039253 2 SCREW HHC M8-1.25 X 20 C8.8
33 043116 2 SCREW HHC M6-1.0 X 12 G8.8
34 0E6585 1 COVERIAC ACTUATOR
35 0F9222A REF MANIFOLD INTAKE UPPER
36 0F9556A 1 SPARK PLUG WIRES, 3.0L G3
37 0F7695 1 EGR GASKET
38 0F6658 1 COVEREGR
39 0D5419 1 OIL FILTER
40 0G3638 1 ADAPTER OIL FILTER 3.0L
4 0G6542 1 HARN LOW OIL PRESSURE SWITCH (NOT SHOWN)
42 0F6746 2 TUBE UPPER COOLANT
43 0G7672 1 DECAL EMISSION CTRL INFO 3.0L
44 052677 1 WASHER NYLON .50 X .87 X .06
45 077456 1 ADAPTER M12-1.75 X 3/8 NPT
46 055596 1 BARBED STR 3/8 NPT X 3/8
47 040173 3 CLAMP HOSE #5.5 .62-.62
48 0E9974 3 CAP VINYL 3/8"ID X 1"DP BLK
49 0E0992A 6 PLUG EXPANSION 14 OD
REVISION: -A-

DATE: 5/27/08

GROUP D

PAGE2 OF 2



